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Question Number : 1 Question Id : 7155053772 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(w2 )
; X :
The range of f [1’} =4gin" 15

l.\.l'l'."l']jl

Options:

71550511991, L0. @]
71550511992. [0. @)
71550511993, [0. 27]

71550511994, [0- 27)

Question Number : 1 Question Id : 7155053772 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sf(x)=4sin"

Options:

71550511991.

71550511992.

71550511993.

71550511994,

2 )
f X

3

0, 7]

10, 7)

[0, 2]

[0, 2n)

HIIERE

Question Number : 2 Question Id : 7155053773 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let =1~

e

Options:

71550511995.

/71550511996.

7155051 1997.

71550511998.

-
el > =;(:: 3 Rg(f))} Then Zl:‘ is equal to

2 | LA

PR

Zes

~
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Question Number : 2 Question Id : 7155053773 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7

T §={zelC:z =f(gj +R€(f))}% | Z|-’I IR E

.-ﬁ_.-\:;
'.h
— —

Options:

71550511995. 2

L W

71550511996. .

o | =2

71550511997

71550511998. 4

Question Number : 3 Question Id : 7155053774 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let a, P be the roots of the equation X - \El +2=0. Then o'*+ ﬁH 15 equal to
Options:

71550511999, — &4

71550512000, — 642

71550512001. — 128

71550512002, — 12842
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Question Number : 3 Question Id : 7155053774 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T GHBR0T X —+2x+2=0 H g o, P& Al !4 + p1* WS &

Options:

71550511999, — 64

71550512000, — 6442

71550512001, — 128

71550512002, — 1282

Question Number : 4 Question Id : 7155053775 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the system of equations
2xFYy =z=2
x—5Svt+iz=u

x + 2} — 3z =

has infinitely many solutions, then (L + u)* + (L — u)® is equal to
Options:
71550512003. 204

71550512004. 912

71550512005. 916
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Question Number : 4 Question Id : 7155053775 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gfe e o/

LB gy~ =8
x-Syt iz=u

Ll
i

x + 2v— 3z

Fdsae Al (h+u)l+(h—u)’ NN o

Options:

71550512003. 904

71550512004, 912

71550512005. 916

71550512006. 920

Question Number : 5 Question Id : 7155053776 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

._l .

Letfor A=|a 3
| ]

=

Options:

71550512007. 9

71550512008. 10

3
'I
2

—

, ‘A‘ =2 .1f |2 adj (2 adj (2A))| = 32", then 3n + 0 1s equal to
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715505120009. 11

71550512010. 12

Question Number : 5 Question Id : 7155053776 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T

1 2
HATA=la 3
11

2 adj (2 adj (2A)) = 32" %, A 3n + « WA &

Options:

71550512007. @

71550512008. 10

715505120009. 11

71550512010. 12

3
'I
.

—

TR

& g |A| =2 §1TlQ

Question Number : 6 Question Id : 7155053777 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

All words, with or without meaning, are made using all the letters of the word
MONDAY. These words are written as in a dictionary with serial numbers. The
serial number of the word MONDAY 1z

Options:

71550512011. 324

~
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71550512012. 326
71550512013. 327

71550512014, 328

Question Number : 6 Question Id : 7155053777 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e MONDAY & FHI 31&RT & T ¥ IR Tea g0l 41 e, SY T S|
& Usdl DI VeI & HTER HHID JT & Ty forer a1 g1 Us2
MONDAY & shHid J& &

Options:

71550512011. 324

71550512012. 326

71550512013, 327

71550512014, 328

Question Number : 7 Question Id : 7155053778 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The coefficient of x° in the expansion ﬂf[ 2x

Options:

71550512015. &
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71550512016, &

80
71550512017, 9

26

71550512018. 3

Question Number : 7 Question Id : 7155053778 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

.5 s t
(gﬁﬁ_#J D THR T 1 d?ﬂjuilifﬁ%f
33~

Options:

71550512015, &

71550512016, 9

80
71550512017. 9

71550512018. 3

Question Number : 8 Question Id : 7155053779 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Let ay, a5, a3, .... be a G. P. of mereasing positive numbers. Let the sum of its
| : . - ]
6™ and 8™ terms be 2 and the product of its 3™ and 5™ terms be & Then

6(a, +ay) (as + ag) 1s equal to
Options:

71550512019. 2

71550512020.2uﬁi

71550512021.3wf§

71550512022. 3

Question Number : 8 Question Id : 7155053779 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

0T a4, a5, 25, ... GUHT YD G131 Bl UH G. P. | HH 58D 6 AR
mm&uﬁqﬂﬁﬂzﬁwmgﬁﬁﬁm%ﬁh4H5qﬂ¢mmmww1é%nﬂ
6(ar + as) (as + ag) SRIER §

Options:

71550512019. 2

71550512020.2mf5

71550512021.3w£§

71550512022. 3
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Question Number : 9 Question Id : 7155053780 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X

R .4
. ¥ =88 (bx) g , then 5a° + b“ 15 equal to
[im —— =17
x—( 1 —cos(2x)

Options:

71550512023. 68

71550512024, 64

71550512025. 72

71550512026. 76

Question Number : 9 Question Id : 7155053780 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=X
CXe

SOY . . s ) N

u—ﬁ: . c C?'Db{b:l] . %:ai‘l'iﬂ.-'__l_b; ﬂ.{lg.{%’
hm ———==17
x—»l) ] —cos(2x)

Options:

71550512023. 68

71550512024, 64

71550512025. 72

71550512026. 76
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Question Number : 10 Question Id : 7155053781 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

=

_ 4 50}
. +|e " tan "xdy
=

The value of - 15

O — . |

1

v f 49 T
Ie ; (mﬂ x+tan x }d:a‘
()

Options:

71550512027. 23
71550512028. 49
71550512029. 50

71550512030. 31

Question Number : 10 Question Id : 7155053781 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4
T -X 50
== J-e “tan " xdx
£ =,
: PIHA®

i
4 1_
- L : S
J. e’ (tzm Yy +tan x } ax
0

Options:

71550512027 25
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71550512028. 49
71550512029. 30

71550512030. 31

Question Number : 11 Question Id : 7155053782 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The area of the region {(x. v) : X~ < Y= \IE — 4l y=1} 1s
Options:

%(4\54}

71550512031.

IO

71550512032. 3

> (a2 1)

71550512033, 4 *

i(wﬁu]

71550512034. 4

Question Number : 11 Question Id : 7155053782 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

b, 1 ™\ =
ﬂq v AN - v === Al 2= 11 ﬁ FH"'.'J L}-.lfl'rl F{
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Options:

> (av2-1)

71550512031, 3

4(4\;’5“)

71550512032. 3

E(4\#’5—1]

71550512033, 4 '

> (4v2 +1)

71550512034, 4

Question Number : 12 Question Id : 7155053783 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let (o, ) be the centroid of the triangle formed by the lines

15x—y=82.6x—5v=—4 and Ox + 4y =17. Then a + 2P and 2a — p are the roots

of the equation
Options:

)
71550512035. X~ —14x+48=0

)
71550512036. X~ —10x+25=0

y
71550512037. X —71x+12=0

\
71550512038. X~ —13x+42 =0

~
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Question Number : 12 Question Id : 7155053783 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HT @13 15x—y =82, 6x — Sy =—4 T 9x + 4y =17 GRI §- (A DI Db
(o, B) B 1 Tl 0.+ 2B TYUT 20— B Tl THIARUT & i B 2

Options:

.
71550512035. X~ —14x+48 =0

B,
71550512036. X~ —10x+25=0

.
71550512037. X — /x+12 =0

.
71550512038. X~ —13x+42 =0

Question Number : 13 Question Id : 7155053784 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the centre of a circle C be (¢.p) and 1ts radius r < 8. Let 3x + 4y = 24 and
3x — 4y = 32 be two tangents and 4x + 3y =1 be a normal to C. Then (o —p + 1) 1s
equal to

Options :
71550512039. 5
71550512040. 6

71550512041. 7

71550512042. 9
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Question Number : 13 Question Id : 7155053784 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T U G4 C T 5% (0.B) © TUTSHD] AT+ < 8 §1 HAT € BT 2 T
T 3x + 4y = 24 TYT 3x — 4y = 32 © YT U TS 4x + 3y =1 B
W (@—p+r) WERE

Options:

"y

71550512039.

71550512040. 6

71550512041. 7

71550512042. @

Question Number : 14 Question Id : 7155053785 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The plane, passing through the points (0, —1, 2) and (—1. 2, 1) and parallel to the
line passing through (5,1,-7) and (1,-1.—1), also passes through the point

Options:
71550512043, (1. =2. 1)
71550512044, (—2. 5. 0)

71550512045, (<. 0. 1)

71550512046, (0. 5. —2)
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Question Number : 14 Question Id : 7155053785 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

f4gafl (5.1,-7) 3R (1.-1.-1)9 BIDX oI aTell 31 & FHIeR o7 fegafi (0. -1, 2) (-1, 2, 1) G e
aT-aTe S, 9 1 4 o g 9 giR ardi g 2

Options:

71550512043, (1. =2, 1)

71550512044, (—2. 5. 0)

71550512045, (2. 0, 1)

71550512046, (0. 5. —2)

Question Number : 15 Question Id : 7155053786 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x+3 y—-1 z-3

The line. that 1s coplanar to the line = = — 18
-3 'E B
Options:
t—1 y-24 2-3
71550512047, -1 2 S
x+1 y—=d 2Z2-3
71550512048. -1 2 5

T1CCNC1 YN AN
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—1 2 4
x+1l yp—4 2z-—3
71550512050, | 2 5

Question Number : 15 Question Id : 7155053786 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RG] "'"';3 - -‘";' - iﬂﬁﬂﬁdmﬁﬁ@aﬁmﬁww%

Options:

71550512047, -1 2 5
x+1 y-2 z-35

71550512048, -1 2 5
e+l y=4 Z=3

71550512049, - 2 4

1
1

71550512050. 1 2 3

Question Number : 16 Question Id : 7155053787 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

110

Let N be the foot of perpendicular from the point P (1, —2. 3) on the line passing
through the points (4, 5, 8) and (1, —7. 5). Then the distance of N from the plane

2x—2v+z+5=01s
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Options:

71550512051. ©
71550512052, 7
71550512053. 8

71550512054. @

Question Number : 16 Question Id : 7155053787 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

qET g3 (4. 5. 8) dYUT (1, -7, 5) H BIPR WHdlcl Y& R f[dg P (1. -2, 3) &
S MU I HIAEN G| A FAAA 2x— 2y +z+5=0 AN DI Gl 8

Options:

71550512051. G

71550512052, 7

71550512053. &

71550512054. 9

Question Number : 17 Question Id : 7155053788 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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=] = .;:'?.
Let ‘Ej| =2, bl = 3 and the angle between the vectors g and f, be 7 Then

P

(E + Zh) % (25 = ‘-5;;) 15 equal to

Options:

71550512055. 441
71550512056. 882
71550512057. 482

71550512058. 841

Question Number : 17 Question Id : 7155053788 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Hi T a| =2, b'| — 3T TUITHER 5 3R j, & & & -:.EIUT%%I di

(E+ 25'):4 (25—35)_ RI6R ©

Options:

71550512055, 441
71550512056. 882
71550512057. 482

71550512058, 841

Question Number : 18 Question Id : 7155053789 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let tor a triangle ABC,

AB=-2i+ j+3k
CB=ai+ /] +7k

CA =4i +3j+0k

It § > () and the area of the triangle ABC 1s 5.\_/’6 , then CRg. (4 1s equal to
Options:

71550512059, 60
71550512060. 54
71550512061. 120

71550512062. 108

Question Number : 18 Question Id : 7155053789 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qT- U TAYS ABC & [T,

AB=-2i + j+3k

Cl3

i + 1]+ ;wfuz

CA =4i +3]+35k

g13¢ § > (8 U HYS ABC &1 &P d 5./ 8. A (5.4 R 6
Options:

71550512059. 60

a
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71550512060. >4

71550512061. 120

71550512062. 108

Question Number : 19 Question Id : 7155053790 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The random variable X follows bmomial distribution B (n. p). for which the difference of the mean and the

variance 1 1. [f 2P(X=2)=3P(X =1). then i P(X>1) 15 equal to

Options :

71550512063. 13
71550512064. 16
71550512065. 12

71550512066. 11

Question Number : 19 Question Id : 7155053790 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0P UEf&% T X TP 578 §¢7 B (, p) T 71U TUT FERUI 1 36K 1 6, T STV I ¢
P(X=2)=3P(X=1)8 T P(X> 1) R s

”

Options:

71550512063. 15
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71550512064. 16

71550512065. 1.

71550512066. 11

Question Number : 20 Question Id : 7155053791 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The statement (p A (~q)) V ((~p) A q) V({~p) A (~q)) 18 equivalent to

Options :

71550512067. (~P) V (~q)

71550512068. P V (~q)

71550512069. (~p) V q

71550512070. PV g

Question Number : 20 Question Id : 7155053791 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FU (p A (~Q) V (~P) AQ V((~p) A (~q)) [PIH T T
Options:

71550512067. (™R} V (~q)
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71550512069. (~P) V q

71550512070. PV q

Mathematics Section B

Section Id : 715505230
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505230
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 7155053792 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

LetA={4,-3.-2.0.1,3. 4 andR={(a, b)) EAxA:b=|alorb* =a+ 1} be a
relation on A. Then the mimmimum number of elements, that must be added to the
relation R so that it becomes retlexive and symmetric, 1s

Response Type : Numeric

:Ilﬂlllﬂ*:.ﬁ“ n.ﬂﬂll=ﬂ.ﬁl‘ E.ﬁ.h‘ fﬂ. L Uﬁl’"

gcollegeduniaﬁ
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Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 21 Question Id : 7155053792 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AATA=(4,-3,-2,0,1,3,4) SOUARTP GGYR={(0,b) EAxA:b=|a| Th* =+ 1) BI T TTYR
B & Y O G- 3394 Sis WY, oy 1 05 Wed a4l 908 gl o »

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 7155053793 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Total numbers of 3-digit numbers that are divisible by 6 and can be formed by
using the digits 1, 2, 3, 4. 5 with repetition, 15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

a
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10

Question Number : 22 Question Id : 7155053793 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

™

3P11,2,3,4, 5P WY
3! &t TwErafl & TET o

1Y, TR

Response Type : Numeric

q

1Tl

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

&

Y. §15, o 9 d

il 63

q

Hlwy 3

Question Number : 23 Question Id : 7155053794 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

__ . I -
The remainder. when 7103 {5 divided by 17, 1s

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

149

Question Number : 23 Question Id : 7155053794 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o

e TR

o -

—

—
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155053795 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let [a] denote the greatest integer < o. Then [\/‘I ] | {\E ] at [«JE ] +...4 [J@] 18

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155053795 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T [o] HeWH QUi < o B ?ﬁf[ﬁ] | {ﬁ} 1 [»ﬁ] +...4 [@] SR &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

a
gcollegedumaa
India’s largest Student Review Platform

S



Possible Answers :

10

Question Number : 25 Question Id : 7155053796 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Letf th A JER 1£2f(2 +f ) =119 (2)" + 1 then n 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155053796 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Iﬂﬂf Zkﬁ: xelR B1ald2f2)+f2)=119Q"+18, A NRE

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 26 Question Id : 7155053797 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T
il

20 n \{ n \

Let |, =I ZsinH X Z(Zk‘—l)sinﬁ_] X

o\ k=l J\ k=l /

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

cos x dx, n € N. Then f51 - f5 15 equal to

Question Number : 26 Question Id : 7155053797 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

\ WA

Y n |
=] o f=]
Zsm x| 2(2&# ~1)sin" " x

\ k=l J\ k=l

Il
(:|L_1IJ| ".I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

\

/

cosx dv. n€ N 8| ﬁfﬁl — frp IR :

Question Number : 27 Question Id : 7155053798 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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dy | dx | X+2
It y=y(x) 15 the solution of the differential equation | [1‘2 —l)}h | ;
; | 2 )_ﬁ

Il
-
—
N
p—

o i Bk . | ‘ = _ |
¥(2)= ﬁlﬂg" (2 + ,ﬁ ) and .1"(’%5 ) = log, H{I + ] ] + -y, B,y €N, then afyy is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

149

Question Number : 27 Question Id : 7155053798 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dy | 4x X + 2 o1 ﬁ
If2, Sfada GG . (1:3-1)} . )j; 7 FRA =) A
L x“ =1}

) | | B _ o ﬁ
_1’(2_] = ;1% (2+‘~ﬁ-) IR J"(jﬁ)qf lﬂgi?[.h'lg+ﬁ]+[f— ﬂf}g a,f,7e Ng.dl offy NI &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155053799 Question Type : SA Calculator : None

a
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Response Time : N.A Think Time : N.A Minimum Instruction Time: 0




Correct Marks : 4 Wrong Marks : 1

ﬁ
|

The toci of a hyperbola are (= 2.0) and its eccentricity 1s ; . A tangent,

B

perpendicular to the line 2x + 3y = 6. 1s drawn at a point in the tirst quadrant on the
hyperbola. If the intercepts made by the tangent on the x- and y-axes are a and b
respectively. then ‘6&‘ T ‘54'_':-‘ 15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155053799 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[ - NETHN. - = - 1 3- 3 :
T SHqURAT P A (= 2.0) © TUT SHDT Ieh=cll = ¢l HUH AU A

aﬁmumu_ﬁmmﬁ% IR U ¥g @, ol H
2x + 3y =6 P q9ad ¢, Qi ol ¢ Ule T8 W1, x- TUT y-3Hefl TR HH:
3{GS a TUT b &Il &, I |6a]+ |55 SR ©

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155053800 Question Type : SA Calculator : None

a
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Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1




The mean and standard deviation of the marks of 10 students were found to be 50
and 12 respectrvely. Later, 1t was observed that two marks 20 and 25 were wrongly
read as 45 and 50 respectively. Then the correct variance is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155053800 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 BT & 3ehi o HIY U AFS [dda- HAERE 50 94T 12 J7d fHU 0| dg |
g <@ 741 b I STl & 3ich 20 TUT 25 TTelcll I SHHTT: 45 TUT 50 Ug 7T |
6! IRRUT ©

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155053801 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 tan~!

For x € (-1, 1], the number of solutions of the equation sin™! x x 18 equal

1o

Response Type : Numeric

Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155053801 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x € (—1, 1] [0, JHIGR sin~! x = 2 tan~'x & B DI 4= B

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Physics Section A
Section Id : 715505231
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80

Enable Mark as Answered Mark for Review and
Yes
Clear Response :

a
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Sub-Section Number: 1

Sub-Section Id : 715505231
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 31 Question Id : 7155053802 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the equation | X +— [}’ — b]z R, Xis pressure, s volume, R 1s universal

&

, _ l . . .a
gas constant and T 1s temperature. The physical quantity equivalent to the ratio — 1s;

b
Options:

71550512081, Energy

71550512082, Pressure gradient

71550512083, Impulse

71550512084 Coctlicient of viscosity

Question Number : 31 Question Id : 7155053802 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it 1+}f—’ [Y -b]=R7 B X T4 8, ¥ 3a 8, R UAH® 14 Fudi®

g 3R T ATIHH §1 3D ? & qed Hifde AW &

Options:
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71550512081, ol

71550512082. «ld HdUId]

71550512083, HTdT]

71550512084, <A T[0T/

Question Number : 32 Question Id : 7155053803 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The distance travelled by an object in time t is given by s = (2:5)t* . The
instantaneous speed of the object att =5 s will be:

Options:

71550512085. 5 ms ™"

71550512086. 12.5 ms™

71550512087 25 ms

71550512088, 62.5 ms

Question Number : 32 Question Id : 7155053803 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U G gRIt THO H TU DI T8 Gl s = (2528 1 t =5 s TR a%d &1 &0 dIcd

.
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Options:

71550512085. > ms

71550512086. 12.5 ms™

71550512087. 23 ms™

71550512088. 62.3 ms

Question Number : 33 Question Id : 7155053804 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A passenger sitting 1n a train A moving at 90 km'h observes another train B
moving in the opposite direction for 8 s. If the veloeity of the train B 1s 54 km/h.
then length of train B 1s:

Options:

71550512089. 80 m

71550512090. 120 m

71550512091. 200 m

71550512092. 320 m

Question Number : 33 Question Id : 7155053804 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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00 km'h ¥ TEd! §5 XHTTS! A P <X 961 U I [quid fg2m J iaar gesi
TSI B B 85 TP 1 61 TG TFTS! B BT AT 54 kn'h B, A1 X@SH B B
TS o

Options:

71550512089. s m
71550512090. 120 m
71550512091. 200 m

71550512092, 320 m

Question Number : 34 Question Id : 7155053805 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A vehicle of mass 200 kg 1s moving along a levelled curved road of radms 70 m
with angular velocity ot 0.2 rad’s. The centripetal force acting on the vehicle 1s:

Options:
71550512093. 14 N
71550512094, 2240 N

71550512095, 360 N

71550512096. 2800 N

Question Number : 34 Question Id : 7155053805 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0




200 ke TOIHE &1 TS dled 0.2 rad/s D DIV a7 Y 70 m FHS01 & JHd
g d I&% U 1fd 3l o | a6 W PR HUH=< & -

Options:

71550512093. 14 N

71550512094, 2240 N

71550512095, 360 N

71550512096. 2800 N

Question Number : 35 Question Id : 7155053806 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : For a planet, if the ratio of mass of the planet to its radius increases.
the escape velocity from the planet also increases.

Statement II : Escape velocity 13 independent of the radius of the planet.

In the light of above statements, choose the most appropriate answer torm the
options given below

Options :
71550512097. Both Statement I and Statement II are correct
71550512098. Both Statement I and Statement II are incorrect

71550512099. Statement I 1s correct but statement II 1s incorrect

71550512100. Statement I 15 incorrect but statement I1 1s correct

a
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Question Number : 35 Question Id : 7155053806 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A1Id gl YA Eﬂﬂﬁ%

YT 1: U U8 P (AL, F1S T8 & So0HM 1 SHS| Hod] & QY S0 g4
2. U8 &1 yarg a7 ot dedr g

HYF 11 : a0 a7 98 &1 Fodl R R 781 aar e
SWRIF Dyl & Hgu 4, A 60 10 fadedl § ¥ galite 3ugad 3R IHT:

Options:

21550512097 &l YT 1d HYTII Tl o

71550512098, &I DY I T Y I1 e %

o %
71550512099 P4 I_‘\:ﬁ}[%’ g - IT]cid ©

11550512100, DU I TTEd § U= PY- 11 U6l 8

Question Number : 36 Question Id : 7155053807 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 15
labelled as Reason R

Assertion A : A spherical body of radius (5 = 0.1) mum having a particular density
15 falling through a liguid of constant density. The percentage error 1n the
calculation ot its terminal velocity 15 4%.

Reason R : The terminal velocity of the spherical body falling through the liquid

15 inversely proportional to its radius.
&collegedumaa
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In the light of the above statements, choose the correct answer trom the options




Options:

71550512101 DBoth A and R are true and R 1s the correct explanation of A
71550512102 Both A and R are true but R 1s NOT the correct explanation of A

71550512103. A 1s true but R 15 false

71550512104, A 1s false but R 1s true

Question Number : 36 Question Id : 7155053807 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 31 P 8 T §: U Pl SfUSYT A TUT G @I PRUIR F =R fbar
STl 6 |

HTUBYT A ¢ (5= 0.1) mm 1 U4 U {120 €9 Bl U MATBR a3 U
ad u-cd & %d H TR 61 § 1 59d HIET= 9v1 &1 T0HE1 H Hidwrd J¢ 4% B

BRI R : 59 H TR §5 MTPR 35 BT HA 97 59! ol &
B HITC! BIdT §|

SWRIF HYl & Heu 1, 414 38 T [dsedi § 9 9l 3R AT

Options :

71550512101. &Ml A TUTR el %—@ﬁt’ﬂﬂ*ﬂﬂ ol A ©

21550512102, &Il A TUTR Hel & U] R, A B el RAT Tel &

71550512103, A TTAd & RIR TG 8

71550512104, A 770 8 W R U6 §
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Question Number : 37 Question Id : 7155053808 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two planets A and B of radu1 R and 1.5 R have densities p and p/2 respectively.
The ratio of acceleration due to gravity at the surface ot B to A is:

Options:

71550512105. Z:1
71550512106. 2:3
71550512107. 3:4

71550512108. 4:3

Question Number : 37 Question Id : 7155053808 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R @ 1.5 R f01aii & 21 76T A 9 B & U-icd H: p TUT p/2 €1 B TUT A T Tcle
R T d @0l &1 UM o

Options:

71550512105. 2:1

71550512106. 2:3

71550512107. 3:4

71550512108. 4:3
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Question Number : 38 Question Id : 7155053809 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 1mitial pressure and volume of an 1deal gas are P_ and V. The final pressure of
the gas when the gas 13 suddenly compressed to volume 1@. will be :

4
(Given y = ratio of specific heats at constant pressure and at constant volume)

Options:

71550512109. Fo

71550512110. 4F:

71550512111, Po(#)"

A
71550512112, £ ol4)7

Question Number : 38 Question Id : 7155053809 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 3ATGY 19 DI UREHS gId Tl Hd- AR P, dUT V, 8 | oid 719 &l

TS Vo TG ax GUifSd febar mar g1 o e o1 sifers <1 g

4
e, =R e qur R smaa R (R St &1 ).

Options:

71550512109. Fo

71550512110. 4F;

a
&collegedumaa
India’s largest Student Review Platform

S



71550512111, Po(4)

l

71550512112. PGH}?

Question Number : 39 Question Id : 7155053810 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mean free path of molecules of a certamn gas at STP 15 1500d, where d 1s the diameter of the gas
molecules, While maimntaming the standard pressure, the mean free path of the molecules at 373K 15
approximately:

Options :

71550512113. 1500d
71550512114, 750d
71550512115, 2049d

71550512116. 1098d

Question Number : 39 Question Id : 7155053810 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W 19 UG 216 O U 4 719 o U3 1 A1 G 99 1500d . 951 d 79 & U] 1 W 2 1 318
o1 S T 373K TR U3 &1 H1e ek TY TTH 6

Options:

71550512113. 1500d

a
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71550512115, 2049d

71550512116. 1098d

Question Number : 40 Question Id : 7155053811 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A particle executes SHM of amplitude A. The distance from the mean position
when its's kinetic energy becomes equal to its potential energy 1s;

Options:

71550512117. 2 4

»
71550512118, 2

I

—_— 4

71550512119, V2

71550512120, v 2.4

Question Number : 40 Question Id : 7155053811 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS DU A AT B I H1Gd ITTd Hdl o | O oHD! At 3ol IS Sl
P SYER 8l SIdl 8 df vega Rufd 9 289l 31 &

Options:

71550512117. 2 4
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»
71550512118, 2

I

—_— 4

71550512119, V2

71550512120, v 2 A4

Question Number : 41 Question Id : 7155053812 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 10 uC charge 1s divided into two parts and placed at 1 cm distance so that the
repulsive force between them is maximum. The charges of the two parts are:

Options:

71550512121, & BC, 2 pC
71550512122, 7 uC. 3 ul
71550512123, 3 UC. 3 pC

71550512124, 2 pC. 1 uC

Question Number : 41 Question Id : 7155053812 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U 10 uC AT gl W H faHIoId far SffdT & GUT 1 em @1 gl TR 7@ faan

e i e i £y T e o e B e e i s e el
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Options:

71550512121, SHC, 2uC
71550512122, /MG, 3uC
71550512123, 1€, Spuc

71550512124, 9 pC. 1 uC

Question Number : 42 Question Id : 7155053813 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In the network shown below. the charge accumulated n the capacitor in steady state will be:

3V 4()
— ———WW—

| 62

4uf

VW=

6 L2
Options:
71550512125, 10.3 ut

71550512126, 4-8 uC

71550512127, /-2 uC
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Question Number : 42 Question Id : 7155053813 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

- vefRid Jeds O, Ui &f RITg a=i1 d IEd e g

3V 4

6£2
Options :

71550512125, 10.3nC

71550512126, 4-8uC

71550512127, /-2nC

71550512128, 12uC

Question Number : 43 Question Id : 7155053814 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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An electron 1s moving along the positive x-axis, If the uniform magnetic field 15
applied parallel to the negative z-axis, then

A. The electron will experience magnetic force along positive y-axis
B. The electron will experience magnetic force along negative y-axis
C. The electron will not experience any force in magnetic ticld

D. The electron will continue to move along the positive x-axis

E. The electron will move along circular path in magnetic field

Choose the correct answer trom the options given below:

Options:

71550512129, A and E only
71550512130, C and D only

71550512131, B and D only

71550512132, B and E only

Question Number : 43 Question Id : 7155053814 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

US Soide M YD x-38 & G Tid B I8l 8 | i TMaHH H169% |
BUTHD z-H& & GH-R UH I 9aH g &3 ARIU g1 a8, dd

A. SUTE YD y-3HE P SR PG g¢ DT HT DU
B. SCIdC I BUTHD y-31& & G THEDIT ¢ D1 34T DT
C. 3o DY &F H fardl ael D1 YT 6] B

D. SAdC 1 YATHD x-3H& B G AR A D

E. S0idc i DY &7 § guIdR Uy U= Td BT

i1 148 T4 fadedl 9 Fol IR F-0:

Options:

71550512129, ®dd ATUTE

L]
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e C dYI D

71550512131, ®dd B A4l D

71550512132, Hdd B dYUTE

Question Number : 44 Question Id : 7155053815 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : An AC circuit undergoes electrical resonance if it contains either a
capacitor or an inductor.

Statement IT : An AC circuit containing a pure capacitor or a pure inductor
consumes high power due to its non-zero power factor.

In the light of above statements, choose the correct answer form the options given
below:

Options:
71550512133. Both Statement I and Statement II are true
71550512134. Both Statement I and Statement II are false

71550512135, Statement I 1s true but statement I 15 false

71550512136. Statement I 15 false but statement II 1s true

Question Number : 44 Question Id : 7155053815 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

a
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Instruction Time : 0




- 3 PyT e T &

HY 1 : U UGl URYY I d5gd 3-Te PRl & id 57 a1 dl U HuTiA

01 U URS a7 &l

YT 11 : TH JUTRA T G R @

g3 U® W

Ul & PRUT e fdd B TUd Hdl ¢

qdl IRTY SO ST e

SIRIGd FYH b HeH H, A IS0 W [deeaai H 9 ©

Options:

21560512133, &1 DU 1d HYTII Jel o

71550512134. &Il 1d &I 11 TTeid %

71550512135, P4 1361 6 Q- YU 11 7Td ©

1550512136, DU 1 TTEd § U= HY 11 96l §

ol IR U

Question Number : 45 Question Id : 7155053816 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an electromagnetic wave, at an instant and at a particular position, the electric
tield 15 along the neeative z-axis and magnetic field 1s along the positive x-axis.
Then the direction of propagation of electromagnetic wave 1s:

Options:

71550512137, Positive y-axis

71550512138, negative y-axis

71550512139, Positive z-axis

~

S
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71550512140 at 457 angle from positive y-axis

Question Number : 45 Question Id : 7155053816 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

0P degadaid dui & oy fad & ue (i ®iF |, f[dggd &9 Bunas
7-318 B S TUT DY &3 YD x-318 F AR R | 7 Jegagad
RRIEEEELEACCUES

Options :

71550512137, 9P y-3Hel

71550512138, B UIHD y-HY

71550512139, UlHD z-H&

71550512140, HTH® y-3H& F 45° & BV TR

Question Number : 46 Question Id : 7155053817 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a Young's double slits experiment. the ratio of amplitude of light coming from
slits 15 2:1. The ratio of the maximum to minimum intensity in the interterence
pattern 1s:

Options:

71550512141, Z:1

71550512142, 9:4
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71550512143, 9:1

71550512144. 25:9

Question Number : 46 Question Id : 7155053817 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 471 o TgigRl Wit |, [9di 9 3T aTct U= & 3 BT SHd1d 2:1 8|
B0 UeH H HiGHad qul <gaad digarsii &1 201 &:

Options:

71550512141, Z:1
71550512142, 9:4
71550512143, 9:1

71550512144, 23:9

Question Number : 47 Question Id : 7155053818 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Out of microwaves, infrared rays and ultraviolet rays. ultraviolet
rays are the most effective tor the emission of electrons from a metallic surface.

Statement IT : Above the threshold frequency. the maximum kinetic energy of
photoelectrons 1s mversely proportional to the frequency of the incident light.

In the light of above statements, choose the correct answer form the options given

below
&collegeduniaﬁ
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71550512145. Both Statement [ and Statement II are true
71550512146. Both Statement I and Statement II are false
71550512147. Statement I 1s true but statement II 15 false

71550512148. Statement I 1s false but statement II 1s true

Question Number : 47 Question Id : 7155053818 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=14 130 HYH Eﬂﬂﬁ%’

BYF 1 : TP Y1 I8 I SUGCII o Fedoi b [oy F& aRl, Sfavad fhui
JYT RIGTH! o J O URTa =1 ool 3ifees wHTdt gl o |

HY 11 : Sedl 3G D HUR, BIC SAaC HI B S{UDAH TS Holl STaidd
UhTY DI 3{1gid B AhHUId! Bl &

SRIFd FYHl & Feu 1, 1 & T [dFedl § 9 ¥el SR g

Options:

==

21550512145 &l @Y1 d Y11 Jel 6

71550512146, & ®Y-1d HYF 11 7Tdd ©

71550512147, PUA T TG & TReg HYH 11 77900 &

11550512148 DU I TTEd § U] HY 11 UGl §

— m B = E | e = ® w | - L P e S P e P B Pa a @ o O e ey g n ¥ = C ol o L W -
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled az Assertion A and the other 1s
labelled as Reason R

Assertion A : The binding energy per nucleon 1s practically independent of the atomic
number for nuclei of mass number 1n the range 30 to 170,

Reason R : Nuclear force 1s short ranged.

In the light of the above statements, choose the correct answer trom the options
oiven below

Options:

71550512149 DBoth A and R are true and R 1s the correct explanation of A
71550512150 DBoth A and R are true but R 1s NOT the correct explanation of A

71550512151. A 1s true but R 15 false

71550512152, A 1s false but R 1s true

Question Number : 48 Question Id : 7155053819 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

#l%rglqow ¢80 T 5 U Bl SUPYT A 7Y 391 $I SRR I {2 [
T g

HTHFYT A - ToO0H T4 30 9 170 F &[T Gre AD! & foe uid gfeedi= 5= Sl
HHIR X GHTY] ST IR 4T 98] Sl |

PNUIR ; THOT T GH RE S Eld 6 |
SWRIFd Byl & FgH 1, i 68 7 fasedi T I g8t 3w IHT:

Options:

71550512149, A1 A YT R J6l 6 U4 R, A I ol AR o
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1550510150 G A TUTR UEl € R R, A DI Ul AR 7ol §

71550512151, A el ¢ TR R 7Teid ©

71550512152, ATTHA 8 IR B! &

Question Number : 49 Question Id : 7155053820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The output from a NAND gate having inputs A and B given below will be,

M —| \—I —I |—I
(Input) |
0 : _

Options:
| ; | i | | |
i i | i I i i
| |
| | i
| | i
| | |
|

| | ] | | [

71550512153. | ; | | ! |
| ! | |
I ! | I
I I | I
I I | I
| : | [
71550512154, I | I | | j
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71550512155. ] I |

f
71550512156. I i i

Question Number : 49 Question Id : 7155053820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A dYT B a9 ard NAND Tie 9 urd A 9 eu g o 9 g

A
GEEUNE |
()

Options:
i | 1 | | |
| | I | I |
) |
| | |
| | |
| | |
|
| | i | i
71550512153, | j i ] j
71550512154,

a@
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71550512155.

71550512156.

Question Number : 50 Question Id : 7155053821 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To radiate EM signal of wavelength 4 with high etficiency. the antennas should have a mmimum size equal to :

Options:

71550512157.

715350512158,

71550512159,

71550512160.

'_1".|
L,

NN

o
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Question Number : 50 Question Id : 7155053821 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

o ST ). RIS o el bl g U 9 fodivd e @ oy UeH1 &1 G SR §HI digU:

Options:

71550512157. 24

71550512158. 4

71550512159. 2

71550512160. 4

Physics Section B

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

715505232
4

Online
Mandatory
10

5

20

Yes

a
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Sub-Section Number: 1

Sub-Section Id : 715505232
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 51 Question Id : 7155053822 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A car accelerates from rest to u m/s. The energy spent 1n this process 1s E J. The
energy required to accelerate the car from u m/s to 2u m/s 1s nE J. The value ot n 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 51 Question Id : 7155053822 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0P DR fRA F u m/s T @R 8l 81 59 Uichal F o0 S9| E 901 81 PR
Bl um's 9 2um/s P @Rd g4 & [elU 3TaGD H9l nE §d § | n T HH
o

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 52 Question Id : 7155053823 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A light rope 1s wound around a hollow cylinder of mass 5 kg and radius 70 cm,
The rope 1s pulled with a torce of 52.5 N. The angular acceleration ot the cylinder

will be rad s,

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 7155053823 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

5 ke TUT 70 em 3901 & U W@IGd 90 U UP gl BRI @UCl ol SR &1 52.5
N &0 I Gig1 9dl & | 567 P S0 G200 rad 2 BT

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 7155053824 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Two plates A and B have thermal conductivities 84 Wm™'K ™! and 126 Wm K™
respectively. They have same surtace area and same thickness. They are placed in
contact along their surfaces. If the temperatures of the outer surtaces ot A and B

are kept at 100 "C and 0 "C respectively, then the temperature of the surface of

contact in steady state 1s j

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 7155053824 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l wief A d B P1 & e il HH: 84 Wm™ K1 TUT 126 W 'K ! €
3D giclg d Uy &% U §9H & | 9 39 dall & 914 9o 4 7™l g1 3id A
d B & 983! ddl &1 dUH o 100 °C 910 °C | T AT H HUP dd 3l

sICEIE T8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155053825 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In an experiment with sonometer when a mass of 180 g 15 attached to the string, it
vibrates with fundamental frequency ot 30 Hz. When a mass m 1s attached. the
string vibrates with fundamental trequency ot 50 Hz. The value ot m 1s

g,

“ m—

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155053825 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS GHHe YO 5 91d SR I 180 ¢ B UH So0HH 191701 8, U8 30 Hz T

0ol 3MTgft & HUd Bl & | O m Sodd §U1 51 a8 SRI 50 Hz BT Td g 3
S Bl &1 m BT A g Bl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155053826 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Three point charges q. —2q and 2q are placed on x-axis at a distance x = 0,

3

4
= @ @ 0 0 @R — =

Response Type : Numeric

X= EH and x = R respectively from origin as shown. If g=2 % 107°C and
R = 2 em. the magnitude of net force experienced by the charge
—2q 18 N.
q —2q 2q
A N S
| |
x=0 3 I I
_-— g ;
|

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155053826 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
: [PR—
?ﬂ:r%'_ﬁ aﬂa-q[qf— —Eq GEI qu-ﬂﬁmﬂﬁﬁ'_ﬁﬁm x=0. x :-—H QH_1:=

R RWE o s o femmrmn g1 afd q=2 » 10—*5=:‘QHR—.-,em -
2q MTAY GRT IROTH & ST GRHATo NE

( —-2q 2(
r————————————8——————————
| |
x =0 3 I I
S EEEE— ZR —d :
]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155053827 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the circuit shown, the energy stored in the capacitor 1s n uJ. The value of n1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155053827 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
e Rid gROY o, FuRa & GiEd Suln pI €1 n THF gl
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155053828 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A straight wire AB of mass 40 g and length 50 cm 15 suspended by a pair of
tflexible leads in unitform magnetic ficld of magnitude 0.40 T as shown in the
figure. The magnitude of the current required 1n the wire to remove the tension n

the supporting leads 1s A. (Take ¢ = 10 ms™).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155053828 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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40 g TEOHM YT 50 cm TG &1 UH YT dR AB &I UH Silel ddid di gl
0.40 T URHIU & USHHIAH FEHY &4 § UaiRld o SR dcehr 11§
YR F T <131 BT d1d H B & [0 IR H Hd S bl YRT BT GRHTIT
AT, {ﬁﬂT%g= 10 ms™).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155053829 Question Type : SA Calculator

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An nsulated copper wire ot 100 turns 1s wrapped around a wooden cylindrical
core of the cross-sectional area 24 em?. The two ends of the wire are connected to
a resistor. The total resistance in the circuit 1s 129, It an externally applied unitorm
magnetic tield in the core along 1ts axis chaneges trom 1.5 T 1n one direction to 1.5
T in the opposite direction, the charge tHlowing through a point 1n the circuit during
the change of magnetic field will be mC.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

~

S

: None
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Question Number : 58 Question Id : 7155053829 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 3{TCIP BIUR dR & 100 B Bl 24 em? T IR=5S &P & TP
SEHIPR DR IR TUel 41§ | TR & G ¥R U WiiRkiY H 58 § | TRy &1
P WRIY 12Q §1 TG DR T THD! 3H& & A< U §lal HARIUd UhHH
DI & 1.5 T U foxn @ gudl famm # 1.5 T uRafdd giar g1 g8 ufkad— &
GRTIF URUY | {51 fawg 9 7o ara Sa mC |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155053830 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A b1 convex lens of focal length 10 cm 1s cut in two 1dentical parts along a plane
perpendicular to the principal axis. The power of each lens after cut 1s

1D,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155053830 Question Type : SA Calculator : None

a@
gcollegedumaa
India’s largest Student Review Platform

S

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

- s ®B = [ ] d u B F [ [ ] il




10 F]. DI i 1e! U Teaie o9 ol 1 318 o qrael o A ) U g W # faHTior fapar
Wl & | FHTST o 916 Weldh oG ol &l D¢l

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155053831 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
An atom absorbs a photon of wavelength 500 nm and emuts another photon of wavelength 600 nm. The net

enzrgy absorbed by the atom i this process 150 « 107V, The value of n i
| Assume the atom to be stationary durmg the absorption and emission process|

(Toke h=66 1075 and ¢=3 x 10° mis),

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155053831 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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U GRATY 500 nm AU E &1 U BieH AgLIHE Hdl g adl 600 nm P

SR BIEH Sfeld SRl © | 59 Wishdl § TRA] gR1 $d AL
Holl (n % 107%V) 81 n BT HM 1

STafdr SaYIET qYT FHedol- & GRIH WRHY BT =g THET

(B :h=6.6x 1074 Td c =3 x 105 m/s)|

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Chemistry Section A
Section Id : 715505233
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505233
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 61 Question Id : 7155053832 Question Tvpe : MCQ Option Shuffling : Yes Is

a
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : SO, and H,O both possess V-shaped structure.
Statement I : The bond angle of SO, 1s less than that of H,O.

In the light ot the above statements, choose the most appropriate answer trom the

options given below:

Options:

71550512171. Both Statement I and Statement II are correct

71550512172. Both Statement I and Statement II are incorrect

71550512173. Statement [ 15 correct but Statement II 15 incorrect

71550512174. Statement [ 1s incorrect but Statement II 1s correct

Question Number : 61 Question Id : 7155053832 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

HYT I : SO, AR H,0 GIHI B TG V-HHR DI g |
WY II : SO, B ATEY BV H,0 T FH gldl o

SURIGd PYUAT & YR TR A1 16 T [ddhedl H ¥ Jad Ii<d IR Bl I |

Options:

21550512171 BYA I HR 11 3 9 B

71550512172, PUAT AR I &HI A T

71ccnc19172 DYUAT Sﬁ_\TTT 21 3T

L

e

~

S
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71550512174, PUA 1 UW § O] HUF 11 WA §

Question Number : 62 Question Id : 7155053833 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What happens when methane undergoes combustion mn systems A and B respectively?

Adiabatic [Dathermic
syslem container
System A System B
Options:

71550512175, Tempe

71550512176 | TEl’ﬂIl"EfﬂTULTE‘1*"5'111*3'111S ST

[ Setemd | SvtemB
Temperature falls Temperature rises

 SystemA |  SystemB
_ Temperature falls | Temperature remains same_

Question Number : 62 Question Id : 7155053833 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1 BIdT & Wid 099 g A 3R B I HOY: 87 Bdl &7

Adiabatic [D1athermic
system container

System A Svystem B

Options :

71550512175, [dHHi A dk Bl S <Rl

71550512177.

71550512178.

Question Number : 63 Question Id : 7155053834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : The diameter of colloidal particles in solution should not be much
smaller than wavelength of light to show Tyndall ettect.

Reason R : The light scatters 1n all directions when the size of particles 1s large
enough.

In the light of the above statements. choose the correct answer from the options
oiven below:

Options:

v1cenc1217a Both A and R are correct and R 15 the correct explanation of A

]
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71550512180 DBoth A and R are correct but R 1s NOT the correct explanation of A

71550512181. A 1s true but B 1s talse

71550512182. A 1s false but R 15 true

Question Number : 63 Question Id : 7155053834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 15
labelled as Reason R.

MUBY A : fe=sa uH1a fe@M & oy fao # Sl s! Sl &1 Td Her
Pl RT-¢2 I 95d BH el g 9Nigy|

PRI R : T8 DU BT SHR TG 51 511 © 76 TP BT DIV T
ERINTRES G

SURITd HY & YR TR Al 17 T faded] ¥ Fel SR @I IH:

Options :

-.

21650512179 A AR R EFI T © 3

IR, A DI g AR HIdT ¢

71550512180, A 3R R &Il el § TRq R, A B! Tl o1 el g

=§!‘ :
71550512181, A T E W R AT

71550512182, A AT TG R IA G|

Question Number : 64 Question Id : 7155053835 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The covalency and oxidation state respectively of boron in [BF 4|, are
Options:

71550512183. 4 and 4

71550512184. 4 and 3

71550512185. 3 and 4

71550512186. 3 and 3

Question Number : 64 Question Id : 7155053835 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
SR &1 GgHaleh dl 3R HTaH 0 3{aw (8r, H A ©
Options:

71550512183, 4 ¥ 4
71550512184, 4 ¥ 3
71550512185, 3 31X 4

71550512186. 3 311X 5

Question Number : 65 Question Id : 7155053836 Question Type : MCQ Option Shuffling : Yes Is

a@
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements related to Ellingham diagram:

Statement I ; Ellingham diagrams can be constructed for formation of oxides, sulfides and halides of metals.
Statement II : It consists of plots of ﬂfHD vs T for formation of oxides of elements.

In the light of the above statements, choose the most appropriate answer from the options given below:

Options:

71550512187. Both Statement I and Statement II are correct

71550512188. Both Statement I and Statement II are incorrect

71550512189. Statement I 1s correct but Statement II 15 incorrect

71550512190. Statement I 1s incorrect but Statement II 15 correct

Question Number : 65 Question Id : 7155053836 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

HY 1 : Ueiuy e & Uil & HIFHIgs eblgs| 3R galgs! & g4 D
feTQ ST off ¥l & |

HYT 11 : 95 dcal & HAIgs] & §41 P [l AHC 3R T & U 3 g |

SQRIGd DYl & YR R i g 78 fddhedl § 9 9ad Sfd STk &l I |

Options:

71550512187 PUA I Sﬁ_\fﬂ AEIEIR %

71550512188, PYUA I AR II T A §
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21550512180 PUA I T & IR DY I ST &

21650512190, PUT I HIA & IRd HYA 11 U &

Question Number : 66 Question Id : 7155053837 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Isotopes of hydrogen have almost same chemacal properties, but
ditference in their rates of reaction.

Reason R : Isotopes of hydrogen have difterent enthalpy of bond dissociation.

In the light of the above statements. choose the most appropriate answer trom the
options given below:

Options:

71550512191 Both A and R are correct and R 1s the correct explanation of A
71550512192 DBoth A and R are correct but R 1s NOT the correct explanation of A

71550512193. A 1z correct but B 13 not correct

71550512194, A 1z not correct but R 15 correct

Question Number : 66 Question Id : 7155053837 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 1s labelled as Assertion A and the other 15
labelled as Reason R.

MUDYT A : BISSI9H & TG & TTUI A THAHS Jured gid ©
(=] TR T G 3HeTTT-3MeT gl 8|

BRUTR : SIS 6 & HRITHSG] B 3dy [agem wiedt e/t gidl ¢ |
IRIF YA & YR W 1 38 T [Toedl B Ta9 Id I D A |

Options:

71550512191 A@?R Gl ‘?:I'tﬁr]-% Sﬂ_{ﬁ,ﬂaﬁ *’cEElrﬁi o [<] %

71550512192 A SR R &HI U6l & AR R, A D Yol ARAT el &

71550512193, A T6l 8 R 3T §

.
71550512194, AT IR e 1 ©

Question Number : 67 Question Id : 7155053838 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Better method for preparation of BeF,. among the following 1s

Options:
71550512195, B€ T F5 > Bek,

" | - & A Aal
71550512196, (V1 14)2Bek, > Bel,

A _
21550512197, BeQ + C+F —— Bel,
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Question Number : 67 Question Id : 7155053838 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
FEGRIT T I BeF, -1 &1 a9 331 dRIDI §:

Options:
| i A g
71550512195, B€ T > Bel,
> h A P,
71550512196, (4 )2 Bek, > Bel,

. A _
71550512197, B€O + C + F, » Bek,

. == A
21550512108, B€H, T F, —— Bek,

Question Number : 68 Question Id : 7155053839 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct order of standard enthalpy of formation of sodium halides.
Options:

71550512199, NaF < NaCl < NaBr < Nal

71550512200. Nal < NaBr < NaCl <NaF

71550512201, Nal < NaBr < NaF < NaCl
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Question Number : 68 Question Id : 7155053839 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
HITSgH gaEs! & o1 AHS [ava- TAwl & Jol o &I YgdH |
Options:

71550512199, NaF < NaCl] < NaBr < Nal

71550512200. Nal < NaBr < NaCl <NaF

71550512201. Nal < NaBr < NaF < Na(Cl

71550512202. NaCl < NaF < NaBr < Nal

Question Number : 69 Question Id : 7155053840 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The correct group of halide 10ns which can be oxidised by oxygen 1n acidic medium 1s

Options :

71550512203, Br and I only

71550512204, €17 . Br and I" only

71550512205, I only

71550512206, Br only
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Question Number : 69 Question Id : 7155053840 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eSS TGl &1 Hel 97 & wilfd SMTaRie & R S J1eH | TRilpd
[T ol Hopell &

Options:

71550512203, ®dd Br ¥ I~

71550512204, A CI~, Br 3R I

71550512205, ad I

71550512206. A Br™

Question Number : 70 Question Id : 7155053841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Whieh ofth tllowng conmplxes vl xtibt anmun atection fo an appled magnetc el

Options:

71550512207, [Co (en)3]7"
- X 2_
71550512208, L€ (H;0)¢]

| g B
71550512209, [Zn (H>0)g]°
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71550512210, [Nt (HyO)g]™"

Question Number : 70 Question Id : 7155053841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
efeiRad § 9 & 91 oo Jabid &3 O alitd it s

Options:

71550512207, [Co (en)3]7"

71550512208, LCo (H;0)g]™

| g B
71550512209, [Zn (H>0)g]°

ik \ 2_
71550512210, N1 (H;0)g]

Question Number : 71 Question Id : 7155053842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the Green house gases?

A. Water vapour
B. Ozone
C. 1L

D. Molecular hydrogen

Choose the most appropriate answer trom the options given below:

Options:

71550512211, A and B only
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71550512212, A and D only

71550512213, C and D only

71550512214, B and C only

Question Number : 71 Question Id : 7155053842 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEfRad § 9 $H-31H eRdE 714 87

A, vid diy
B 3EE

C. 1
D. H1UI[dP BIEg o

414 68 70 fap i T 9 9ad Sfd & I

Options:

71550512211, @ad A X B

71550512212, Bad A 3R D
71550512213, dd C AR D

71550512214, BaA B HX C

Question Number : 72 Question Id : 7155053843 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

The total number of stereoisomers for the complex [Cr(ox), CEEI‘]E’ ~ (where ox =

oxalate) 1s:
Options :

71550512215. 2
71550512216. 3
71550512217. 4

71550512218. 1

Question Number : 72 Question Id : 7155053843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-

T [Cr(ox),CIBr]*~ (181 ox = &) & ot o fafde garayar:

Options:

71550512215, £
71550512216, 2
71550512217. 4

71550512218. 1

Question Number : 73 Question Id : 7155053844 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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g =

In the wet tests for detection of various cations by precipitation, Ba“ ™ cations are
detected by obtaining precipitate ot

Options:

71550512219, Ba504

71550512220, Ba(OAc),

71550512221, BaCO;

71550512222 DBa(ox) : Bartum oxalate

Question Number : 73 Question Id : 7155053844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(AL M=l oI AT&YU §RT Udl @4 & 49 UNEUI H Ba2™ U910 &l - &
3F&Y R UMl 9IdT 6

Options :

71550512219, Bas0y

71550512220, Ba(OAc),

71550512221, BaC0;

715505122272 DBa(ox) : Barium oxalate

Question Number : 74 Question Id : 7155053845 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I ; Tropolone 15 an aromatic compound and has 8 m electrons.
Statement II : 7 electrons of >C = O group m tropolone 1s involved m aromaticity.

In the light of the above statements. choose the correct answer from the options given below:
Options:

71550512223. Both Statement I and Statement II are true
71550512224. Both Statement I and Statement II are false
71550512225. Statement I 1s true but Statement II 15 false

71550512226. Statement I 1s talse but Statement II 1s true

Question Number : 74 Question Id : 7155053845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HYF 1 : YA Uh WHICH JITR g R 594 8 » 3ade &ld o |

HYTIL : >C = 0 TG D « ZadeH WRHCHIET 5 YT Td T |

JURIAd YA D HYR 9T A e 7T [ddedl § 9 9ol 39 @l UgdH:
Options:

21550512293 BUT I AR HUT 11 T ©

71550512224, BYAI HRII AT §

71550512225, PUT 1 TT § TR FYF 11 S &
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71550512226 P U1 I dded & U DYUAII A &

Question Number : 75 Question Id : 7155053846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List [1
1 - Bromopropane 1s reacted with reagents i List [ to give product in List 11

LIST I - Reagent LIET I1 - Product
- {OH (alc) “

:.ET'EI'

V. [Nitroallsane

Choose the correct answer from the options g1ven below:
Options:

71550512227, A-IV, B-I1II, C-II, D-I

71550512228. A-IIL, B-1, C-IV, D-II

71550512229, A-L, B-III, C-IV, D-II

71550512230. A-L B-1I, C-III, D-IV

Question Number : 75 Question Id : 7155053846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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=il 1 1 11 & FHICId oy
| - S T 1 3 sifirete § oififirar S 9=t 11 BT SIS ST 8

5,{[-'

i< 8 74 fapedi d T 95l SR @ ggl’i?':

Options:

71550512227, A-IV, B-1II, C-II, D-I

71550512228, A-lIL B-I, C-IV, D-II

71550512229, A-L. B-III, C-IV, D-II

71550512230, A-L B-1I, C-III, D-IV

Question Number : 76 Question Id : 7155053847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Order of acidic nature of the following compounds 1s A= B > C,

OH (1] 3

: : El O
CH
A I3 L
I

Reason R : Fluoro 15 a stronger electron withdrawing group than Chloro group.

In the light ot the above statements, choose the correct answer from the options

oiven below:
&collegeduniaﬁ
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71550512231 Both A and R are correct and R 1s the correct explanation of A
71550512232 Both A and R are correct but R 1s NOT the correct explanation of A

71550512233, A 1s true but R 1z false

71550512234, A 1s false but R 15 true

Question Number : 76 Question Id : 7155053847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTHBYA A : FafcREd D &1 SRgd FTHFITA>B > C

O OH il

| . :
O/'Lt -
- CH,
A § L
F

BRI R : TR TRl T SIS Uad S0aeH - 31y 998 &

SIRIFd PYA & YR R A (48 T [ddhed] H ¥ el 3R &l IH:
Options:

21650519231 A AR R EHI Jol 6 IR R, A DI Jol ARA o

[ -

2150519232 A SRR & Jol & didh- R, A Pl Uol IRAT 6l ©

71550512233, A UEl ¢ IRg R TTEA &

71550512234, A 96l el & IR RUGI©
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Question Number : 77 Question Id : 7155053848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The major product for the tollovwing reaction 1s:

| H SH
/\\ O ~8S .

CN

Options:

0
2O TN -

71550512235, HS

&
71550512236. H'D/\‘/ \/\CN’

71550512237 07 N\

I'
71550512238. g ~\UH

Question Number : 77 Question Id : 7155053848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafaiaa siffarar § 591 9@ 3d1E 6

' HO -~ ~_~ SH
/’\\ 5.

CIN

Options:

AN AN

71550512235. HS
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_ q |
71550512236. HD/\\/ \"/\CN

71550512237. 07 N\
///f;\f — NH
|
71550512238. g ~\UH

Question Number : 78 Question Id : 7155053849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Compound A from the following reaction sequence is:

Br
Brz, n NaNO, / HCI H3 PO,
N B, —m ( ————> O
() - 5°C A
Br Br

Options:

71550512239, Benzoic Acid

71550512240, Salicylic Aeid
71550512241, Phenol

71550512242, Aniline

Question Number : 78 Question Id : 7155053849 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e sfufhar 3 H TS A T

Br
BI-":I {.91 HfJHD / HCI I‘l PU
A, ——m8 = B, —= (. —} O
()—5°C A |
Br Br
Options:

71550512239. S-ollgd 3K

71550512240, Sfcidfeid 3Td

71550512241, DIl

71550512242. BIERIE

Question Number : 79 Question Id : 7155053850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The naturally occurring amino acid that contains only one basic functional group
in 1ts chemical structure 1s

Options:
71550512243, asparagine

71550512244, lysine

71550512245, arginine
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71550512246, mstidine

Question Number : 79 Question Id : 7155053850 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
b ide S0 H Uil S aTal UHHT 3 S8R dad Uh &RIY fhardld 918

Options:

71550512243, UEURTGII-

71550512244, QIR

71550512245, HIfoi=1

71550512246, IG5

Question Number : 80 Question Id : 7155053851 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match Laist I with List IT

LIST I LISTII

A Weak intermolecular forces of T
T lattraction '

I Ivdrogen bonding
' C. [Heavily branched polymer |-
' D. [High density polymer Phenol — formaldehyde

Choose the correct answer from the options given below:

Options:

a
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71550512247, A-1l, B-IV, C-I, D-III

71550512248, A-IV,

" B-I. C-III, D-II

71550512249, A-LI, B-I, C-IV, D-II

71550512250, A-IV. B-1I, C-III, D-I

Question Number : 80 Question Id : 7155053851 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il 1 1 11 T FHIEd B

'E._

gﬂfﬂ =1 HTUGh HTh T

I_1

I <0 70 T9pedl § I el ST @I T4

Options:

71550512247, A-1lL, B-IV, C-I, D-III

71550512248, A-IV, B-I, C-III, D-II

71550512249, A-IIL

71550512250, A-IV,

I, B-I. C-IV, D-II

. B-I1, C-III, D-I
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Chemistry Section B

SectionId: 715505234
Section Number : 6

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505234
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 81 Question Id : 7155053852 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
lg of a carbonate (M,CO;) on treatment with excess HCI produces 0.01 mol of

CO,. The molar mass of M,CO5 15 o mol™!, (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 7155053852 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
lg BIEME (M,CO,) DI HCI D AR § HUhgTr B 9= CO, BT 0.01 Hid
Gl 81 M,CO; DT HITR GoddH ¢ mol™! §1 (Mdvcad quiie)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155053853 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sodium metal crystallizes 1n a body centred cubic lattice with unit cell edee length

of 4 A, The radius of sodium atom is « 1071 A (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155053853 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIfSTH U1d 4 A DIPDT R Ty & FIY 3Hd: Disd U= Sad & 20 H
fehEcciiopd Bid § 1 TITSTH URA & A <1071 A (e

TTieR)
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 7155053854 Question Type : SA Calculator : None
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xh

The orbital angular momentum ot an electron in 3s orbital 15 —. The value of x 1s
27T

(nearest integer)
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Question Number : 84 Question Id : 7155053855 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sea water contains 29.25% NaCl and 19% MgCl, by weight of solution. The

normal boiling point of the sea water 1s °C (Nearest integer)

Assume 100% 1onization for both NaCl and MgC(l,
Given : Ki(H,0)=0.52 K kg mol ™!
Molar mass of NaCl and MgCl, 15 58.5and 95 ¢ mol ™! respectively.
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Text Areas : PlainText
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Question Number : 84 Question Id : 7155053855 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
URTHR JH%1 Od o [dad= § 29.25% NaCl 3R 19% MeCl, § | & od Pl
T HYiD °C (Fidvead quile)

T iford fab NaCl 3R MeCl, 100% 3119 Bl S © |
[SaT AT 8 : Ky (H,0) = 0.52 K kg mol™
NaCl 3R MgCl, & HIeR SoqHH HH: 58.5 3R 95 g mol ! B
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